Bid T	abulation														
2016	2016 City Hall Parking Lot Rehabilitation			Engineer's Estimate		Cadillac Asphalt, LLC		Asphalt Specialists		Proline Asphalt		T&M Asphalt			Corporation
ITB-	RH-16-005			Spalding	DeDecker	51777 W. 12 Mile Rd.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.			an Horn Rd.
						Wixom, MI 48393		Pontiac, MI 48340		Washington, MI 48095		Milford, MI 48381		Trenton, MI 48183	
	E BID A - MAIN PARKING LOT														
Item No.	Ref Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	SP2 Pre-Construction Audio Video	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00	\$1,477.75	\$1,477.75	\$500.00	\$500.00	\$1,325.00	\$1,325.00	\$866.36	\$866.36
2	SP3 Traffic Maintenance & Control	1	LS	\$3,000.00	\$3,000.00	\$17,500.00	\$17,500.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$229.43	\$229.43
3	SP4 Soil Erosion Control Measures	1	LS	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	\$500.00	\$500.00	\$200.00	\$200.00	\$539.03	\$539.03
4	M501 HMA Surface, Rem	6110	SY	\$5.00	\$30,550.00	\$8.00	\$48,880.00	\$9.85	\$60,183.50	\$4.00	\$24,440.00	\$4.50	\$27,495.00	\$1.95	\$11,914.50
5	M204 Curb and Gutter, Rem	52	LF	\$20.00	\$1,040.00	\$15.00	\$780.00	\$75.00	\$3,900.00	\$30.00	\$1,560.00	\$5.00	\$260.00	\$22.07	\$1,147.64
6	M205 Excavation, Earth	1470	CY	\$20.50	\$30,135.00	\$18.00	\$26,460.00	\$21.65	\$31,825.50	\$15.00	\$22,050.00	\$14.50	\$21,315.00	\$13.68	\$20,109.60
7	SP6 Subgrade Undercutting, Type II (Modified) (As Needed)	510	CY	\$50.00	\$25,500.00	\$45.00	\$22,950.00	\$52.00	\$26,520.00	\$30.00	\$15,300.00	\$47.00	\$23,970.00	\$48.86	\$24,918.60
8	M302 Aggregate Base, 8 inch	6110	SY	\$10.00	\$61,100.00	\$10.00	\$61,100.00	\$8.85	\$54,073.50	\$6.50	\$39,715.00	\$7.10	\$43,381.00	\$8.08	\$49,368.80
9	SP10 Edgedrain, 6 Inch, w/Geotextile Trench Wrap	1500	LF	\$15.00	\$22,500.00	\$18.00	\$27,000.00	\$18.50	\$27,750.00	\$13.80	\$20,700.00	\$18.00	\$27,000.00	\$16.40	\$24,600.00
10	SP12 Curb and Gutter, Conc, Modified	52	LF	\$40.00	\$2,080.00	\$75.00	\$3,900.00	\$65.00	\$3,380.00	\$65.00	\$3,380.00	\$48.00	\$2,496.00	\$67.08	\$3,488.16
11	M501 HMA, 3E1	845	TON	\$80.00	\$67,600.00	\$85.00	\$71,825.00	\$85.00	\$71,825.00	\$83.00	\$70,135.00	\$84.70	\$71,571.50	\$87.21	\$73,692.45
12	M501 HMA, 5E1	510	TON	\$90.00	\$45,900.00	\$105.00	\$53,550.00	\$92.00	\$46,920.00	\$94.00	\$47,940.00	\$88.00	\$44,880.00	\$89.57	\$45,680.70
13	SP14 Str Rehab Type 2: Structure Cover Adjust	3	EA	\$600.00	\$1,800.00	\$1,550.00	\$4,650.00	\$450.00	\$1,350.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$239.58	\$718.74
14	SP15 Structure Cover, Type STM 2	3	EA	\$500.00	\$1,500.00	\$600.00	\$1,800.00	\$450.00	\$1,350.00	\$775.00	\$2,325.00	\$500.00	\$1,500.00	\$598.94	\$1,796.82
15	SP17 Pavt Mrkg, Waterborne, 4 inch, (white)	3885	LF	\$1.00	\$3,885.00	\$0.60	\$2,331.00	\$0.30	\$1,165.50	\$0.65	\$2,525.25	\$0.20	\$777.00	\$0.34	\$1,320.90
16	SP17 Pavt Mrkg, Ovly Cold Plastic, (white) (Thru Arrow Symbol)	13	EA	\$25.00	\$325.00	\$120.00	\$1,560.00	\$200.00	\$2,600.00	\$125.00	\$1,625.00	\$108.00	\$1,404.00	\$39.13	\$508.69
17	SP18 Restoration	1	LS	\$3,000.00	\$3,000.00	\$8,500.00	\$8,500.00	\$2,012.50	\$2,012.50	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,956.29	\$1,956.29
18	M150 Mobilization, Max 2% - Items 1 thru 18	1	LS	\$6,058.30	\$6,058.30	\$5,000.00	\$5,000.00	\$6,700.00	\$6,700.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$1,733.44	\$1,733.44
	SUB-TOTAL BASE BID A – MAIN PA	LOT:		\$308,973.30		\$361,061.00		\$346,033.25		\$262,145.25		\$277,574.50		\$264,590.15	

Bid Ta	abulatic	n														
2016 City Hall Parking Lot Rehabilitation				Engineer's Estimate		Cadillac Asphalt, LLC		Asphalt Specialists		Proline Asphalt		T&M Asphalt			Corporation	
ITB-RH-16-005					Spalding DeDecker		51777 W. 12 Mile Rd.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.		2654 Van Horn Rd.	
								Wixom, MI 48393		Pontiac, MI 48340		Washington, MI 48095		Milford, MI 48381		, MI 48183
		B – MAIN DRIVE AND SERVICE PARKING LOT														
Item No.	Ref Spec	Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
19	SP2	Pre-Construction Audio Video	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00	\$1,600.00	\$1,600.00	\$500.00	\$500.00	\$1,325.00	\$1,325.00	\$866.36	\$866.36
20	SP3	Traffic Maintenance & Control	1	LS	\$1,000.00	\$1,000.00	\$9,500.00	\$9,500.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$239.57	\$239.57
21	SP4	Soil Erosion Control Measures	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$750.00	\$750.00	\$900.00	\$900.00	\$150.00	\$150.00	\$539.05	\$539.05
22	M501	HMA Surface, Rem	3260	SY	\$5.00	\$16,300.00	\$8.00	\$26,080.00	\$9.85	\$32,111.00	\$4.80	\$15,648.00	\$4.00	\$13,040.00	\$2.05	\$6,683.00
23	M205	Excavation, Earth	165	CY	\$20.50	\$3,382.50	\$30.00	\$4,950.00	\$21.65	\$3,572.25	\$20.00	\$3,300.00	\$15.00	\$2,475.00	\$17.13	\$2,826.45
24	SP6	Subgrade Undercutting, Type II (Modified) (As Needed)	155	CY	\$50.00	\$7,750.00	\$50.00	\$7,750.00	\$52.00	\$8,060.00	\$35.00	\$5,425.00	\$47.00	\$7,285.00	\$48.86	\$7,573.30
25	M302	Aggregate Base, 4 inch	1470	SY	\$7.50	\$11,025.00	\$15.00	\$22,050.00	\$6.75	\$9,922.50	\$4.20	\$6,174.00	\$4.00	\$5,880.00	\$4.12	\$6,056.40
26	M302	Aggregate Base, Conditioning	1790	SY	\$4.00	\$7,160.00	\$15.00	\$26,850.00	\$2.50	\$4,475.00	\$1.50	\$2,685.00	\$1.75	\$3,132.50	\$0.68	\$1,217.20
27	M501	HMA, 3E1	550	TON	\$80.00	\$44,000.00	\$85.00	\$46,750.00	\$85.00	\$46,750.00	\$83.00	\$45,650.00	\$84.70	\$46,585.00	\$88.12	\$48,466.00
28	M501	HMA, 5E1	365	TON	\$90.00	\$32,850.00	\$105.00	\$38,325.00	\$92.00	\$33,580.00	\$95.00	\$34,675.00	\$88.00	\$32,120.00	\$91.56	\$33,419.40
29	SP13	Str Rehab Type 1: Point Up Structure	1	EA	\$400.00	\$400.00	\$1,550.00	\$1,550.00	\$275.00	\$275.00	\$570.00	\$570.00	\$100.00	\$100.00	\$359.36	\$359.36
30	SP14	Str Rehab Type 2: Structure Cover Adjust	3	EA	\$600.00	\$1,800.00	\$1,550.00	\$4,650.00	\$450.00	\$1,350.00	\$675.00	\$2,025.00	\$1,000.00	\$3,000.00	\$598.94	\$1,796.82
31	SP15	Structure Cover, Type STM 1	1	EA	\$500.00	\$500.00	\$1,550.00	\$1,550.00	\$450.00	\$450.00	\$750.00	\$750.00	\$250.00	\$250.00	\$838.52	\$838.52
32	SP15	Structure Cover, Type STM 2	2	EA	\$500.00	\$1,000.00	\$1,550.00	\$3,100.00	\$450.00	\$900.00	\$750.00	\$1,500.00	\$500.00	\$1,000.00	\$958.31	\$1,916.62
33	SP17	Pavt Mrkg, Waterborne, 4 inch, (white)	895	LF	\$1.00	\$895.00	\$1.00	\$895.00	\$0.30	\$268.50	\$1.00	\$895.00	\$0.20	\$179.00	\$0.34	\$304.30
34	SP17	Pavt Mrkg, Waterborne, 4 inch, (blue)	110	LF	\$1.00	\$110.00	\$2.00	\$220.00	\$0.30	\$33.00	\$1.50	\$165.00	\$0.20	\$22.00	\$0.45	\$49.50
35	SP17	Pavt Mrkg, Waterborne, 4 inch, (yellow)	235	LF	\$1.50	\$352.50	\$1.00	\$235.00	\$0.30	\$70.50	\$1.00	\$235.00	\$0.20	\$47.00	\$0.34	\$79.90
36	SP17	Pavt Mrkg, Ovly Cold Plastic, (blue) ("Accessible" Symbol)	2	EA	\$50.00	\$100.00	\$110.00	\$220.00	\$200.00	\$400.00	\$125.00	\$250.00	\$96.00	\$192.00	\$61.49	\$122.98
37	SP17	Pavt Mrkg, Thermoplastic, 18 inch, Stop Bar	15	LF	\$15.00	\$225.00	\$13.00	\$195.00	\$20.00	\$300.00	\$15.00	\$225.00	\$38.00	\$570.00	\$16.77	\$251.55
38	SP18	Restoration	1	LS	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,850.00	\$1,850.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,117.89	\$1,117.89
39	M150	Mobilization, Max 2% - Items 19 thru 39	1	LS	\$2,637.00	\$2,637.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,733.44	\$1,733.44
ļ,	SUB-TOTAL BASE BID B–MAIN DRIVE & SERVICE PAR			G LOT:		\$134,487.00		\$206,145.00		\$149,817.75		\$125,772.00		\$120,352.50		\$116,457.61

Bid Ta	bulatic	n														
2016 City Hall Parking Lot Rehabilitation					r's Estimate	Cadillac Asphalt, LLC		Asphalt Specialists		-	e Asphalt	T&M Asphalt		Pavex Corporation		
ITB-RI	H-16-0	05		_	Spalding DeDecker		51777 W. 12 Mile Rd.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.		2654 Van Horn Rd.	
							Wixom, MI 48393		Pontiac,	MI 48340	Washingto	on, MI 48095	Milford, MI 48381		Trenton, MI 48183	
		C – EAST DRIVES AND VISITOR PARKING LOT														
	Ref Spec	Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
40	SP2	Pre-Construction Audio Video	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00	\$1,477.75	\$1,477.75	\$500.00	\$500.00	\$500.00	\$500.00	\$866.36	\$866.36
41	SP3	Traffic Maintenance & Control	1	LS	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$300.00	\$300.00	\$239.57	\$239.57
42	SP4	Soil Erosion Control Measures	1	LS	\$500.00	\$500.00	\$3,500.00	\$3,500.00	\$600.00	\$600.00	\$550.00	\$550.00	\$150.00	\$150.00	\$539.05	\$539.05
43 N	A 501	HMA Surface, Rem	1255	SY	\$5.00	\$6,275.00	\$8.00	\$10,040.00	\$11.25	\$14,118.75	\$7.80	\$9,789.00	\$4.50	\$5,647.50	\$2.09	\$2,622.95
44	SP5	HMA Surface Repair	52	SY	\$25.00	\$1,300.00	\$100.00	\$5,200.00	\$42.50	\$2,210.00	\$60.00	\$3,120.00	\$15.00	\$780.00	\$59.90	\$3,114.80
45 N	A 501	Cold Milling HMA Surface, 2 inch	1730	SY	\$4.00	\$6,920.00	\$8.00	\$13,840.00	\$3.45	\$5,968.50	\$4.20	\$7,266.00	\$2.50	\$4,325.00	\$3.67	\$6,349.10
46 N	A204	Curb and Gutter, Rem	12	LF	\$20.00	\$240.00	\$15.00	\$180.00	\$75.00	\$900.00	\$50.00	\$600.00	\$5.00	\$60.00	\$17.97	\$215.64
47 N	A205	Excavation, Earth	315	CY	\$20.50	\$6,457.50	\$25.00	\$7,875.00	\$22.55	\$7,103.25	\$19.00	\$5,985.00	\$15.00	\$4,725.00	\$17.56	\$5,531.40
48	SP6	Subgrade Undercutting, Type II (Modified) (As Needed)	65	CY	\$50.00	\$3,250.00	\$50.00	\$3,250.00	\$52.00	\$3,380.00	\$45.00	\$2,925.00	\$47.00	\$3,055.00	\$48.87	\$3,176.55
49 N	A 302	Aggregate Base, 8 inch	1255	SY	\$7.50	\$9,412.50	\$15.00	\$18,825.00	\$9.05	\$11,357.75	\$7.00	\$8,785.00	\$7.10	\$8,910.50	\$8.48	\$10,642.40
50 \$	SP12	Curb and Gutter, Conc, Modified	12	LF	\$40.00	\$480.00	\$75.00	\$900.00	\$65.00	\$780.00	\$85.00	\$1,020.00	\$48.00	\$576.00	\$67.08	\$804.96
51 N	A 501	HMA, 3E1	175	TON	\$80.00	\$14,000.00	\$135.00	\$23,625.00	\$85.00	\$14,875.00	\$94.00	\$16,450.00	\$84.70	\$14,822.50	\$92.21	\$16,136.75
52 N	A 501	HMA, 5E1	295	TON	\$90.00	\$26,550.00	\$145.00	\$42,775.00	\$92.00	\$27,140.00	\$93.00	\$27,435.00	\$88.00	\$25,960.00	\$94.55	\$27,892.25
53 \$	SP13	Str Rehab Type 1: Point Up Structure	2	EA	\$400.00	\$800.00	\$1,550.00	\$3,100.00	\$250.00	\$500.00	\$570.00	\$1,140.00	\$100.00	\$200.00	\$359.36	\$718.72
54 \$	SP14	Str Rehab Type 2: Structure Cover Adjust	2	EA	\$600.00	\$1,200.00	\$1,550.00	\$3,100.00	\$350.00	\$700.00	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00	\$598.94	\$1,197.88
55 \$	SP15	Structure Cover, Type STM 2	2	EA	\$500.00	\$1,000.00	\$1,550.00	\$3,100.00	\$450.00	\$900.00	\$775.00	\$1,550.00	\$500.00	\$1,000.00	\$958.31	\$1,916.62
56 \$	SP16	Joint and Crack, Cleanout, Modified	470	LF	\$7.50	\$3,525.00	\$18.00	\$8,460.00	\$7.85	\$3,689.50	\$8.00	\$3,760.00	\$15.00	\$7,050.00	\$4.79	\$2,251.30
57 \$	SP17	Pavt Mrkg, Waterborne, 4 inch, (white)	930	LF	\$1.00	\$930.00	\$1.00	\$930.00	\$0.30	\$279.00	\$1.00	\$930.00	\$0.20	\$186.00	\$0.34	\$316.20
58 \$	SP17	Pavt Mrkg, Waterborne, 4 inch, (blue)	415	LF	\$1.00	\$415.00	\$2.00	\$830.00	\$0.30	\$124.50	\$1.40	\$581.00	\$0.20	\$83.00	\$0.45	\$186.75
59 \$	SP17	Pavt Mrkg, Waterborne, 4 inch, (yellow)	285	LF	\$1.50	\$427.50	\$1.00	\$285.00	\$0.30	\$85.50	\$1.00	\$285.00	\$0.20	\$57.00	\$0.34	\$96.90
60 5	SP17	Pavt Mrkg, Ovly Cold Plastic, (blue) ("Accessible" Symbol)	8	EA	\$50.00	\$400.00	\$120.00	\$960.00	\$200.00	\$1,600.00	\$125.00	\$1,000.00	\$96.00	\$768.00	\$61.49	\$491.92
61 \$	SP17	Pavt Mrkg, Ovly Cold Plastic, (white) (Thru Arrow Symbol)	6	EA	\$25.00	\$150.00	\$120.00	\$720.00	\$200.00	\$1,200.00	\$135.00	\$810.00	\$108.00	\$648.00	\$39.13	\$234.78
62 \$	SP17	Pavt Mrkg, Thermoplastic, 18 inch, Stop Bar	30	LF	\$15.00	\$450.00	\$13.00	\$390.00	\$18.50	\$555.00	\$15.00	\$450.00	\$38.00	\$1,140.00	\$13.97	\$419.10
63 \$	SP17	Pavt Mrkg, Cross Walk, 12 inch	240	LF	\$5.00	\$1,200.00	\$9.00	\$2,160.00	\$12.50	\$3,000.00	\$10.00	\$2,400.00	\$25.00	\$6,000.00	\$0.39	\$93.60
64 \$	SP18	Restoration	1	LS	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00	\$2,250.00	\$2,250.00	\$300.00	\$300.00	\$500.00	\$500.00	\$1,117.89	\$1,117.89
65 N	А150	Mobilization, Max 2% - Items 40 thru 65	1	LS	\$1,787.65	\$1,787.65	\$2,750.00	\$2,750.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$1,733.44	\$1,733.44
		SUB-TOTAL BASE BID C-EAST DRIVES & VISITOR PA	ARKING	LOT:		\$91,170.15		\$169,570.00		\$107,494.50		\$102,431.00		\$91,243.50		\$88,906.88
TOT	TOTAL BASE BID A, B, & C:					\$534,630.45		\$736,776.00		\$603,345.50		\$490,348.25		\$489,170.50		\$469,954.64

Bid Tabulation														
016 City Hall Parking Lot Rehabilitation			Engineer's Estimate		Cadillac Asphalt, LLC		Asphalt	Asphalt Specialists		Proline Asphalt		T&M Asphalt		Corporation
ITB-RH-16-005			Spalding	Spalding DeDecker		51777 W. 12 Mile Rd.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.		an Horn Rd.
			ļ		Wixom, MI 48393		Pontiac, MI 48340		Washington, MI 48095		Milford, MI 48381		Trenton, MI 48183	
ALTERNATE BID A1-MAIN LOT ALTERNATE CROSS SECTION														
Item Ref No. Spec Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
66 SP2 Pre-Construction Audio Video	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00	\$1,477.75	\$1,477.75	\$500.00		\$1,325.00	\$1,325.00	\$870.00	\$870.00
67 SP3 Traffic Maintenance & Control	1	LS	\$3,000.00	\$3,000.00	\$17,500.00	\$17,500.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$300.00	\$300.00
68 SP4 Soil Erosion Control Measures	1	LS	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	\$500.00	\$500.00	\$200.00	\$200.00	\$550.00	\$550.00
69 M501 HMA Surface, Rem	6110	SY	\$5.00	\$30,550.00	\$8.00	\$48,880.00	\$9.85	\$60,183.50	\$4.00	\$24,440.00	\$4.50	\$27,495.00	\$1.95	\$11,914.50
70 M204 Curb and Gutter, Rem	52	LF	\$20.00	\$1,040.00	\$15.00	\$780.00	\$75.00	\$3,900.00	\$30.00	\$1,560.00	\$5.00	\$260.00	\$22.00	\$1,144.00
71 M205 Excavation, Earth	800	CY	\$20.50	\$16,400.00	\$20.00	\$16,000.00	\$21.65	\$17,320.00	\$15.00	\$12,000.00	\$13.00	\$10,400.00	\$15.00	\$12,000.00
72 SP6 Subgrade Undercutting, Type II (Modified) (As Needed)	510	CY	\$50.00	\$25,500.00	\$45.00	\$22,950.00	\$52.00	\$26,520.00	\$30.00	\$15,300.00	\$47.00	\$23,970.00	\$49.00	\$24,990.00
73 M302 Aggregate Base, 4 inch	6110	SY	\$7.50	\$45,825.00	\$10.00	\$61,100.00	\$6.75	\$41,242.50	\$3.50	\$21,385.00	\$3.50	\$21,385.00	\$4.00	\$24,440.00
74 SP10 Edgedrain, 6 Inch, w/Geotextile Trench Wrap	1500	LF	\$15.00	\$22,500.00	\$18.00	\$27,000.00	\$18.50	\$27,750.00	\$13.80	\$20,700.00	\$18.00	\$27,000.00	\$16.40	\$24,600.00
75 SP12 Curb and Gutter, Conc, Modified	52	LF	\$40.00	\$2,080.00	\$75.00	\$3,900.00	\$65.00	\$3,380.00	\$65.00	\$3,380.00	\$48.00	\$2,496.00	\$67.00	\$3,484.00
76 M501 HMA, 3E1	845	TON	\$80.00	\$67,600.00	\$85.00	\$71,825.00	\$85.00	\$71,825.00	\$83.00	\$70,135.00	\$84.70	\$71,571.50	\$87.21	\$73,692.45
77 M501 HMA, 5E1	510	TON	\$90.00	\$45,900.00	\$105.00	\$53,550.00	\$92.00	\$46,920.00	\$94.00	\$47,940.00	\$88.00	\$44,880.00	\$89.57	\$45,680.70
78 SP14 Str Rehab Type 2: Structure Cover Adjust	3	EA	\$600.00	\$1,800.00	\$1,550.00	\$4,650.00	\$450.00	\$1,350.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$250.00	\$750.00
79 SP15 Structure Cover, Type STM 2	3	EA	\$500.00	\$1,500.00	\$600.00	\$1,800.00	\$450.00	\$1,350.00	\$775.00	\$2,325.00	\$500.00	\$1,500.00	\$600.00	\$1,800.00
80 SP17 Pavt Mrkg, Waterborne, 4 inch, (white)	3885	LF	\$1.00	\$3,885.00	\$0.60	\$2,331.00	\$0.30	\$1,165.50	\$0.65	\$2,525.25	\$0.20	\$777.00	\$0.34	\$1,320.90
81 SP17 Pavt Mrkg, Ovly Cold Plastic, (white) (Thru Arrow Symbol)	13	EA	\$25.00	\$325.00	\$120.00	\$1,560.00	\$200.00	\$2,600.00	\$125.00	\$1,625.00	\$108.00	\$1,404.00	\$39.13	\$508.69
82 SP18 Restoration	1	LS	\$3,000.00	\$3,000.00	\$8,500.00	\$8,500.00	\$2,012.50	\$2,012.50	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
83 M150 Mobilization, Max 2% - Items 66 thru 83	1	LS	\$5,478.10	\$5,478.10	\$6,800.00	\$6,800.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$1,733.00	\$1,733.00
SUB-TOTAL ALTERNATE BID A1–MAIN LOT ALTERNATE CRO		\$279,383.10		\$352,401.00		\$317,996.75		\$233,765.25		\$244,663.50		\$231,778.24		

Bid T	abulatio	Dn														
2016 City Hall Parking Lot Rehabilitation				<u> </u>	s Estimate	Cadillac A	sphalt, LLC	Asphalt Specialists		Proline Asphalt		T&M	l Asphalt	Pavex Corporation		
ITB-RH-16-005				Spalding	DeDecker	51777 W. 12 Mile Rd.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.		2654 Van Horn Rd.		
							Wixom,	MI 48393	Pontiac, MI 48340		Washington, MI 48095		Milford, MI 48381		Trenton, MI 48183	
ALT	ERNAT	TE BID C1- EAST DRIVE & VISITOR LOT ALTERNATE CR	OSS SE	CTION	[
Item	Ref															
No.	Spec	Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
84		Pre-Construction Audio Video	1	LS	\$1,500.00	\$1,500.00	\$775.00	\$775.00	\$1,477.75	\$1,477.75	\$500.00	\$500.00	\$500.00	\$500.00	\$870.00	\$870.00
85	SP3	Traffic Maintenance & Control	1	LS	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$250.00	\$250.00	\$300.00	\$300.00
86	SP4	Soil Erosion Control Measures	1	LS	\$500.00	\$500.00	\$3,500.00	\$3,500.00	\$600.00	\$600.00	\$550.00	\$550.00	\$150.00	\$150.00	\$550.00	\$550.00
87	SP5	HMA Surface Repair	147	SY	\$25.00	\$3,675.00	\$100.00	\$14,700.00	\$42.50	\$6,247.50	\$50.00	\$7,350.00	\$10.00	\$1,470.00	\$38.00	\$5,586.00
88	M501	Cold Milling HMA Surface, 2 inch	1730	SY	\$4.00	\$6,920.00	\$8.00	\$13,840.00	\$3.45	\$5,968.50	\$4.20	\$7,266.00	\$2.50	\$4,325.00	\$3.67	\$6,349.10
89	M501	Cold Milling HMA Surface, 1 1/2 inch	1255	SY	\$3.00	\$3,765.00	\$8.00	\$10,040.00	\$3.40	\$4,267.00	\$4.20	\$5,271.00	\$2.00	\$2,510.00	\$3.25	\$4,078.75
90	M204	Curb and Gutter, Rem	12	LF	\$20.00	\$240.00	\$15.00	\$180.00	\$75.00	\$900.00	\$50.00	\$600.00	\$5.00	\$60.00	\$18.00	\$216.00
91	SP12	Curb and Gutter, Conc, Modified	12	LF	\$40.00	\$480.00	\$75.00	\$900.00	\$65.00	\$780.00	\$85.00	\$1,020.00	\$48.00	\$576.00	\$67.00	\$804.00
92	M501	HMA, 5E1	295	TON	\$90.00	\$26,550.00	\$150.00	\$44,250.00	\$92.00	\$27,140.00	\$93.00	\$27,435.00	\$88.00	\$25,960.00	\$95.00	\$28,025.00
93	SP13	Str Rehab Type 1: Point Up Structure	2	EA	\$400.00	\$800.00	\$1,550.00	\$3,100.00	\$250.00	\$500.00	\$570.00	\$1,140.00	\$100.00	\$200.00	\$360.00	\$720.00
94	SP14	Str Rehab Type 2: Structure Cover Adjust	2	EA	\$600.00	\$1,200.00	\$1,550.00	\$3,100.00	\$350.00	\$700.00	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00	\$600.00	\$1,200.00
95	SP15	Structure Cover, Type STM 2	2	EA	\$500.00	\$1,000.00	\$1,550.00	\$3,100.00	\$450.00	\$900.00	\$775.00	\$1,550.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
96	SP16	Joint and Crack, Cleanout, Modified	845	LF	\$7.50	\$6,337.50	\$18.00	\$15,210.00	\$7.85	\$6,633.25	\$8.00	\$6,760.00	\$15.00	\$12,675.00	\$4.79	\$4,047.55
97	SP17	Pavt Mrkg, Waterborne, 4 inch, (white)	930	LF	\$1.00	\$930.00	\$1.00	\$930.00	\$0.30	\$279.00	\$1.00	\$930.00	\$0.20	\$186.00	\$0.34	\$316.20
98	SP17	Pavt Mrkg, Waterborne, 4 inch, (blue)	415	LF	\$1.00	\$415.00	\$2.00	\$830.00	\$0.30	\$124.50	\$1.40	\$581.00	\$0.20	\$83.00	\$0.45	\$186.75
99	SP17	Pavt Mrkg, Waterborne, 4 inch, (yellow)	285	LF	\$1.50	\$427.50	\$1.00	\$285.00	\$0.30	\$85.50	\$1.00	\$285.00	\$0.20	\$57.00	\$0.34	\$96.90
100	SP17	Pavt Mrkg, Ovly Cold Plastic, (blue) ("Accessible" Symbol)	8	EA	\$50.00	\$400.00	\$110.00	\$880.00	\$200.00	\$1,600.00	\$125.00	\$1,000.00	\$96.00	\$768.00	\$61.49	\$491.92
101	SP17	Pavt Mrkg, Ovly Cold Plastic, (white) (Thru Arrow Symbol)	6	EA	\$25.00	\$150.00	\$120.00	\$720.00	\$200.00	\$1,200.00	\$135.00	\$810.00	\$108.00	\$648.00	\$39.13	\$234.78
102	SP17	Pavt Mrkg, Thermoplastic, 18 inch, Stop Bar	30	LF	\$15.00	\$450.00	\$13.00	\$390.00	\$18.50	\$555.00	\$15.00	\$450.00	\$38.00	\$1,140.00	\$14.00	\$420.00
103	SP17	Pavt Mrkg, Cross Walk, 12 inch	240	LF	\$5.00	\$1,200.00	\$9.00	\$2,160.00	\$12.50	\$3,000.00	\$10.00	\$2,400.00	\$25.00	\$6,000.00	\$0.39	\$93.60
104	SP18	Restoration	1	LS	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00	\$1,650.00	\$1,650.00	\$300.00	\$300.00	\$500.00	\$500.00	\$1,117.00	\$1,117.00
105	M150	Mobilization, Max 2% - Items 84 thru 105	1	LS	\$1,178.80	\$1,178.80	\$2,500.00	\$2,500.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,800.00	\$1,800.00	\$1,733.00	\$1,733.00
SUB-TOTAL ALTERNATE BID C1 – EAST DRIVE AND VISITOR LOT ALTERNATE CROSS SECTION:					\$60,118.80		\$133,390.00		\$66,508.00		\$70,298.00		\$62,858.00		\$59,436.55	

Bid Tabulation														
2016 City Hall Parking Lot Rehabilitation		Engineer's Estimate			Cadillac Asphalt, LLC			Specialists		e Asphalt	T&M Asphalt		Pavex Corporation	
ITB-RH-16-005			Spalding	g DeDecker	51777 W.		1780 E. Highwood		11797 29 Mile Rd		4755 Old Plank Rd.		2654 Van Horn Rd.	
					Wixom, I	Wixom, MI 48393		Pontiac, MI 48340		Washington, MI 48095		Milford, MI 48381		MI 48183
ALTERNATE BID D – GREEN WALLS & INFILTRATION TRENCHES														
Item Ref No. Spec Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
106 SP2 Pre-Construction Audio Video	1	LS	\$500.00	\$500.00	\$775.00	\$775.00	\$450.00	\$450.00	\$500.00	\$500.00	\$200.00	\$200.00	\$500.00	\$500.00
107 SP4 Soil Erosion Control Measures	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,250.00	\$1,250.00	\$350.00	\$350.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00
108 M205 Excavation, Earth	25	CY	\$20.50	\$512.50	\$135.00	\$3,375.00	\$28.00	\$700.00	\$120.00	\$3,000.00	\$15.00	\$375.00	\$30.00	\$750.00
109 SP8 Green Retaining Wall	990	FSF	\$28.00	\$27,720.00	\$60.00	\$59,400.00	\$56.50	\$55,935.00	\$63.00	\$62,370.00	\$49.22	\$48,727.80	\$64.00	\$63,360.00
110 SP9 Infiltration Trench	430	LF	\$55.00	\$23,650.00	\$60.00	\$25,800.00	\$74.50	\$32,035.00	\$64.00	\$27,520.00	\$65.00	\$27,950.00	\$64.00	\$27,520.00
111 SP14 Str Rehab Type 2: Structure Cover Adjust	3	EA	\$800.00	\$2,400.00	\$1,550.00	\$4,650.00	\$650.00	\$1,950.00	\$675.00	\$2,025.00	\$1,000.00	\$3,000.00	\$600.00	\$1,800.00
112 SP15 Structure Cover, Type STM 3	3	EA	\$500.00	\$1,500.00	\$1,550.00	\$4,650.00	\$350.00	\$1,050.00	\$775.00	\$2,325.00	\$450.00	\$1,350.00	\$600.00	\$1,800.00
113 M204 Curb and Gutter, Rem	180	LF	\$15.00	\$2,700.00	\$30.00	\$5,400.00	\$18.50	\$3,330.00	\$10.00	\$1,800.00	\$5.00	\$900.00	\$6.00	\$1,080.00
114 SP11 Concrete Wheel Stop	14	EA	\$80.00	\$1,120.00	\$80.00	\$1,120.00	\$75.00	\$1,050.00	\$175.00	\$2,450.00	\$55.00	\$770.00	\$50.00	\$700.00
115 SP18 Restoration	1	LS	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00	\$3,300.00	\$3,300.00
116 M150 Mobilization, Max 2% - Items 106 thru 116	1	LS	\$1,242.05	\$1,242.05	\$2,250.00	\$2,250.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
SUB-TOTAL ALTERNATE BID D – GREEN WALLS AND INFILTRATION	TRENG	CHES:												
				\$63,344.55		\$119,920.00	L	\$102,250.00		\$108,340.00		\$86,872.80		\$103,810.00
ALTERNATE BID E – VEGETATIVE SWALE														
Item Ref No. Spec Item Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
117 SP2 Pre-Construction Audio Video	1	LS	\$500.00	\$500.00	\$775.00	\$775.00	\$350.00	\$350.00	\$500.00	\$500.00	\$200.00	\$200.00	\$500.00	\$500.00
118 SP4 Soil Erosion Control Measures	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,250.00	\$1,250.00	\$400.00	\$400.00	\$100.00	\$100.00	\$500.00	\$500.00
119 M204 Curb and Gutter, Rem	156	LF	\$15.00	\$2,340.00	\$40.00	\$6,240.00	\$18.50	\$2,886.00	\$10.00	\$1,560.00	\$5.00	\$780.00	\$6.00	\$936.00
120 M205 Excavation, Earth	65	CY	\$20.50	\$1,332.50	\$100.00	\$6,500.00	\$28.00	\$1,820.00	\$50.00	\$3,250.00	\$30.00	\$1,950.00	\$17.00	\$1,105.00
121 SP11 Concrete Wheel Stop	13	EA	\$80.00	\$1,040.00	\$80.00	\$1,040.00	\$75.00	\$975.00	\$175.00	\$2,275.00	\$55.00	\$715.00	\$60.00	\$780.00
122 SP12 Curb and Gutter, Conc, Modified	16	LF	\$40.00	\$640.00	\$75.00	\$1,200.00	\$65.00	\$1,040.00	\$70.00	\$1,120.00	\$48.00	\$768.00	\$65.00	\$1,040.00
123 SP18 Restoration	1	LS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$2,750.00	\$2,750.00	\$2,000.00	\$2,000.00	\$1,750.00	\$1,750.00	\$2,500.00	\$2,500.00
124 M150 Mobilization, Max 2% - Items 117 thru 124	1	LS	\$227.05	\$227.05	\$500.00	\$500.00	\$220.00	\$220.00	\$200.00	\$200.00	\$50.00	\$50.00	\$140.00	\$140.00
SUB-TOTAL ALTERNATE BID E – VEGETATIVE SWALE:				\$11,579.55		\$28,755.00		\$11,291.00		\$11,305.00		\$6,313.00		\$7,361.00
					Base Bid C Tota	il was corrected	Item 110 was	corrected						